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REL 1-1a
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Outcome 1 - Identifying the gradient and the y-intercept

Bronze examples...

Silver examples

Gold examples

Exumples... y =mx +c
Determine the gradient (m) and
the y-intercept (c) of the
following equations...

y=31’71 m=3

Examples. .. y=mx+c

Determine the gradient (m) and
the y-intercept (c) of the
following equations...

m=4
c=1
**Divide
by 21:*
=73 3y=9%x-11

2y =8x+2
y=4x +1

m=3

Examples... y=mx+c
Determine the gradient (m) and
the y-intercept (c) of the
following equations...
**Take
5¢x+3y=9 away
5xt*
3y=-5x+9
**Divide

by 3*#

y = 5'+3
}*—gl

**Divide

11

by 3**

y=3x ——

3

Bronze Questions ap Silver Questions 1
Write down the gradient and the y-intercept ’é/

Write down the gradient and the y-intercept @
of the following equations...

of the following equations..,

L y=2+4 2 y=5x+8 L 2y=10x+4 3y = 21x — 3
w Y="3x+1 & y=x-2 e Oy=—-10x+5 & 6y=12x-18
1 1
& Y=zx+7 8§ y=§x+5 5 4y=2x+8 g 2y=x+10
Z y=11+43x 8 y=4-x Z 3y=1543x 8 8y=88-24x
1 1

8 y=6-2x 18 y:12—§x 8 3y=9-9% 13 2y=18—4—x
Gold Questions aB

Write down the gradient and the y-intercept .é/

of the following equations...

L 2y+8x=4 3y—21x=3

e OXx+5y=20 4 6y—4x=18

5 4y-2x=10 g 3y-3x=18

Z 2y+3x=9 8 5Lx+4y=20

Q 6y+8x—4=030 7x—5y+5=0
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Bronze Answers

1. m=2c=4
3. m=-3,¢c=1
5 m:i,c:?’

7. m=3,c=11
9. m=-2,c¢c=6

Silver Answers
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33333
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m=1/2,¢=5/2
m=-3/2,¢=9/2
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2.
4.
6.
8.

m=-4/3,c=2/3 10.
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m=7,c=1
m=2/3,c=3
m=1,¢c=6
m=-5/4¢c=5
m=7/5,c=1
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